EARAZROREIERT — 2 N—XBISY —F 20185FE8A20H (B) 1MEIZHEIH

mgag%—:‘/ﬁ‘j 4—IA—9 C12 H>5%—# \ [X2) W \ [eEmm]  — | 4 () 14000 &
[AE4£] 1% :230,000” ~ 237%:58,000MH  33%&:28,000M”  437%&:18,000 H .~ 5 & :12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1178 IPZAVEY 44 5%%5* 1(:53)7 1-1-1-1 | 40.4| — 7 (420) EQ?E (BER)
A= XA 2214 B:ULAATIZR L FE
== AN FLEFRER :34. —4-4- . — BiY (BHE)
2|8l10| AT ZTANRT Y 44 a 1(3(;1)9 4-4-4-2 | 41.3 2 (5:157) %ﬁiag
R:T—0Tr—2 BTy E—H—F J—HrIr—L
InEEE= . —7-6- — AR (BEE)
3lglo| #1AkD it 4 Ines 1.(315>.1 8-7-6-5 | 41.0 9 zzg? REN
L:d—WRT7Ya—b B:hRE—Z+ ® 45
. = KA : —6-5- - SBREX (BHE)
alzl73-v>z2514 o4 AU 1.(325).5 6-6-5-3 | 41.6 1 ;1:331) N
L:A-I>5U> £:a-)>EaT SHHS
4 4 | BRR— 1:35.8 3-3-3-4 |42.3| — 4 443 | FLE (BHE)
5|55 | YVT7L— 54.0 (11/2) o) | ) gD
Lix4vavR—-5— B:v¥ITN—+ mN77— 4
S . . 4 4 | DNEERIE 1:35.8 7-7-8-7 |41.6| — 5 416 | FEBS (BHE)
E=2 ANy TL—> 54.0 (F5%) 45 | (B J PN
R:Jj7—3IY7> B:M4yhb—ED- M7 7 — L4
. N o4 | RIBEE 1:36.6 9-9-9-9 |41.7| — 0 | 436 |1EHRI=E (BREHE)
7I1|1 | 7TTUA R * 5.0 %) 1 +10) W 7oA rETa
LI >FEaT74 BIT7TILY MR
“ o4 | HEHEA 1:36.9 2-2-2-6 |43.5| — 3 464 | AKES] (BHE)
3 4|2/ 7Y 56.0 (1 1/2) (o) | (B J P NHH
R4/ od—d— Bidz=—X7)LY Al JEBA
s = 44 | RZAEIZE 1:37.0 5-5-6-8 | 42.9| — 6 44 | SRERBEX (BHE)
o 6|7 FTF 7055.0 (172 Go) | ) X
L:bhsoE2 K B:35U057 S HBR
S S e FLILE— :37. -10-10- . — ROFEE (BHE)
10 3 a7 <34 4 4 2 (11 317/23) 10-10-10-10| 41.3 8 (4+470) Eeie
R:Z28—1)>7A—-X B:IRF7YA mEE  HiE
® 1—F—@EBIERL
1T=7r= 8,4,5,10,6,7,2,9,1,3
2a=5"= 8,4,5,10,6,7,(2,9),1,3
Ja=5= 8,4,5,10,7,(6,9),2,1,3
43—+ — 8,10,7,5,9,4,2,6,1,3
[ N5
B 8 2,500 714K 8-10 2,860M e E 7-8 530 JEE 8-9-10 81,080
B B 8 790H 8-9 10,580H B = 8-10 7,000 JEE 8-10-9 361,640/
10 180H4 9-10 3,780 B H 8-10 26,510M
9 1,560

ABICOVWTRDTEEERROODE. TR LIV,




